Py

MBEE F4EIKRFHEEFERS

3= ENo.5

T
202149H5H
BAAEE—E
[ FxAILF ]
SELE (FKR—IL)
JE 42 EF4 g4 B/
7 EE BTy [TANRGH/E 10.55
2 B IEFER (W EFKIEIST 9.55
3 A%t BBZE [FIORE 9.25
454 (O0—7F)
JE 42 EF4A Pk B/
7 IR % TEI—#Kig957 11.05
2 B UOED  [THANRGHE/E 10.45
3 R EHE |YIHRERISD 10.40
554 (YRY)
JE 42 EF4A g4 B/
7 A BH  [HFHLRGC 13.45
2 W E  [(HEVWEFKIEIST 12.85
3 WEHNAN A [TANRGE/E 12.55
65 &£ (V57)
JIE iz =EF4 il £ B
7 it BARED [FI—HKIRHSDT 16.80
2 Ho #kE |7I—FKiEISD 15.10
3 Bl #6%  [#BTERG 14.45
[ a=7 ] os
- . - 36 HR—JL 9257
IR | EFA AR % &5 [ Es B B ER
7 w1 mPBE [FIORE 33.35 15.70] 7 17.65| 7
2 =M X% [FIORE 30.70 1530 2 1540 2
3 RE WE |TS—HEEREIST 26.50 1295 3 1355| 6
4 RE &3 [SHOYO RG 26.35 1225 & 1410 &5
5 ¥iE E%E |FIORE 25.85 11.70] 9 1415 4
6 LA [THANRG 24.90 10.70| 76 1420 3
[ &% ] a5 -
- 3 = B 7— %
IRy | EFE AR% &5 [ B EE| B ER
7 EARK BIE | ARaEAZHESS 2R AKE 25.75 13.45| 1 12.30] 2
2 B E |EEaEER 25.50 1235 &5 13.15] 7
3 faft B |[fHHEEEER 24.00 13.20] 2 10.80 &5
4 EH T4X |[HHESEER 23.00 1260 2 1040 7
5 RF BEE |HHESFEER 22.50 12.40| 4 10.10] 9
6 RHF XE |ELEtEEER 22.35 1055 6 11.80] 2




